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INSTRUCTIONS FOR CANDIDATES

The OMR Answer Sheet is inside this Test Booklet. When
vou are directed to open the Test Booklet. take out (he
Answer Sheet and fill in the particulars on Side-1 and
Side-2 carefully with blue / black ball point pen only.

The test is of 2% hours duration and consists of
150 questions. There is no negative marking,

Use Blue/Black Ball Point Pen only for writing
g;alrtirulars on this page/marking responses in the Answer
sheet.

The CODE for this Booklet is C. Make sure that the CODE
printed on Side-2 of the Answer Sheet is the same as that
on this Booklet. Also ensure that your Test Booklet No. and
Answer Sheet No. are the same. In case of discrepaney, the
candidate should immediately report the matter to the
Invigilator for replacement of both the Test Booklet and the
Answer Sheet,

This Test Booklet has five Parts, I, II, 11, IV and V,
consisting of 150 Objective Type Questions and each
carries 1 mark :

. Child Development and Pedagogy (€. Nos. I -30)

Part |

Part I =~ Mathematics (Q. Nos 31 - 60)
Part III : Environmental Studies (Q. Nos. 61— 86
Part IV : Language | — (English/Hindi) (@ Nos. 91 - 120)
Part V : Language II — (English/Hindi) (€. Nos. 121 - 150}

Part TV contains 30 questions for LauFua e [ and Part V
contains 30 questions for Language II. In this Test Booklet,
to English and Hindi language
have been given. In case the language(s) you have opted
for as Lan e 1 and/or Language II is a lang'u.age
other than English or_Hindi, lﬁlease ask for &
Supplement (Language) Test Booklet of C Code ihat
contains questions on that language. The languages
being answered must tally with the languages op
for in your Application Form. No change in languages

is allowed.
Candidates are required to at-temtgt questions in
er than the one

Language II (Part V) in a language o
chosen as Language [ (Parti ) from the list of
languages.

Rough work should be done only in the space provided in the
Test Booklet for the same.
The answers are to be recorded on the OMR Answer Sheet
only. Mark your responses carefully. No whitener is allowed

for changing answers.
ancy in the English and Hindi versions

In case of any discrep ) ]
of questions/answers, English version will be taken as final.
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o
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Iirections .
ww the correct/most appropriate option.
Aol

the basis of what a particular culture e
and behave accordingly.

(1) Both (A) and (R) are true, but (R) is not

(2) (AJis true, but (R) js false.
(3) Both (A, and (R) are false.
(4) Both (A) and (R) are true and (R) is the

(0

R0 |

xU

PART I / W |
CHILD DEVELOPMENT AND PEDAGOGY / avet fremm = s

\aswer the follmcing  questions hy

Which of the following is an example of g
question that requires students to reflect on
their own thinking ?

‘1 How do you change a verb to the present
tense ?

(2} How has your thinking about the use of
verbs changed since the beginning of the

class ?

(3) What is the relationship between nouns
and verbs in g sentence ?

(4)  What is the definition of 5 verh ?

£ 1S an example of an
internal attribution for failure ?

(11 T didn't get good marks because the
teacher wag biased.

(2} T failed the test beca

use my friends were
distracting me

(3) I received a low grade because the
teacher is a tough grader.

(4) 1 failed the test because didn't study
enough.

Read the following statements and choose the
correct option :
Assertion (A) -
At a very early age, girls in most cultures
across the world choose dolls as toys while
boys prefer to play with cars.

Reason (R) .

Children organize information about what is
considered appropriate for a boy or a girl on

Xpects

the correct explanation of (A},

correct explanation of (A),
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At which age can children engage i word play
and like jokes and riddles that involve a play

on words ?

(1) Three years
(2) Seven vears
(3) Twelve years

(4) One year

Carol Gilligan has critiqued Kohlberg's theory

of moral development :

(1) for not giving adequate importance to
genetic factors.

(2) for using case study as the research
method.

(3) from a social cognitive perspective.

(4) from a feminist perspective.

What is the main goal of ‘assessment for

learning’ ?

(1) To provide feedback to students that can
be used to improve their learning

(2) To compare student performance to a
standard or benchmark

(3) To identify students who can Dbe

categorised as ‘slow learners’
(4) To evaluate student performance and
assign grades

agencies of socialisation are

important in infancy,
of socialization also

While
predominantly

agencies
become important in early childhood.

(1) secondary, primary
(2) secondary; tertiary

(3) tertiary, secondary

(4) primary; secondary
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8.

10.

11.

(4)

I)_\'ngnphia 155

(1 Neurulngﬁcal disorder characterized by

trouble in forming letters and shapes.

Pﬂchologncal disorder characterized by

lack of  attention
beha\;iuur,

Speech

(2)

and impulsive

(3)

disorder  characterized by

stuttering and errors in articulation.

(4)  Locomotor

disorder characterized by
Bross motor impairment.

The approach to educating gifted children
which moves them through curriculum at an
unusually rapid pace is known as

(1) Acceleration

(2)  Immersion

(3) Differentiated instruction
(4) Enrichment

Teachers who are working towards inelusive
classrooms :

(i) Create curriculum adaptations
(1) Incorporate diverse perspectives
(ii) Examine their own implicit bias
(iv) See diversity as an obstacle
Which of the above are correct ?

(1)
(2)
(3)
(4)

(1), (ii1), (iv)

(1i), (ii1), (iv)

(1), (iD), (111), (iv)

(1), (11), (iii)

According to Howard Gardner, a philosopher

has type
more

of intelligence and a

has type of

sculptor

int.(e“igﬁnﬂe-

(1) intrapersonal; spatial
(2) nterpersonal; linguistic
(3) linguistic; interpersonal

(4) spatial; intrapersonal

8.

10.

11.

DEN

~ |: ﬁ W?fﬁﬂﬂf’[hﬂﬂ P

(D mmwwqaﬁmﬁ%l

(2) qﬁ%ﬂmmﬂ%fag’—ﬁ forar oy
o s i e S R

(3) e vy fareem @ FoeeRt faere e,
3 g A AT FATR ‘

(4) @”ﬁ'ﬂaﬁw% | Ly

Tyfrr AT © |

e arait 1 e T F1 39 W %
SRy wY ¥ At 1fd ¥ wed=dl & g1 g
AT dgTaT 2, 41 FEAATE ?

~ (1) O (TaEE)

(2) fagsg
(3) foufes fAdem
(4) Hauq

fererer ST emTat shemstt o fewn  Fmy A
R IEACER

() reEeEt § s #+

(i) farferer gfoervit r orfirer =

(111} aﬁm$aﬂaﬁ’r‘%aqahg}ﬁm$r
(iv) ﬁﬁwﬁqmw%mﬁé@

IR AR A T E 9

(1) (i), (i), (iv)

(2) (1), Gii), (jv)
(3) (1), (ii), (i), (iv)
(4) (D), (i), (ii)

mﬁaﬁﬁﬂmaﬁma‘m%l

¥ (1) a-safs: fewmam
012 Fadafes. gfvs
3 vify: sadafes
(4) ﬁﬁ@l’ﬂ; a3t

Scanned with CamScanner



13.

14.

{5 )

The primary goal of learning should he -
(1) competing with peers.
(2)  development of critical thinking,

memorization of facts.

becoming excellent at rote rehearsa].

Variability in learning styles of students -

(1) should not be taken into consideration

during teaching-learning process.

(2) should be seen as a barrier and hindrance

to teaching-learning process.

(3) should be valued and seen as a reflection

of human diversity.

(4) should be ignored and attempts should be

made to bring uniformity in learning

styles.

Read the following statements and choose the
correct option :

Assertion (A) :

To facilitate critical thinking among lez rnei=
teachers should expose them te dierce
situations and differing perspec’ive:

Reason (R) :

Students learn and enrich thewu abilities to
think critically and creatively »s they engage

" in conversations across (iffei~nces.

15.

Both (A) and () are .rue, but (R) is not
the correct exp'anstion of (A).

(1)

(2)
(3)
(4)

(A) is true. but (R) is false.
Toth (A) and (R) are false.

Both /) and (R) are true and (R) is the
correct explanation of (A).

Children learn more effectively if a concept
proceeds from :

(1) Complex to Simple.

(2) Rational to Empirical.
(3) Generic to Specific.
(4) Abstract to Concrete,

pP-I/C
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16.

17,

18.

19‘

(B

plays a
of

As per Lev Vygotsky,
the development

conceptual abilities among children.

(N

signficant  role  in
Social isolation
(2)  Standardized curriculum

(3) Tangible rewards

(4) Peer collaboration

According to Lev Vygotsky’s theory, inner
speech :
(1)

(2)

is a sign of developmental delay.

1s a way for children to regulate their c;wn
thinking.

(8) is a way for children to communicate with
an imaginary friend.

(4) is a sign of cognitive immaturity.
Four-year-old Aparna says that a button is
alive because it helps tie her shirt together.
According to Jean Piaget, her thinking is
characterized by :

(1) Centration

(2) Hypothetical-deductive thinking

(3) Transductive reasoning

(4) Animistic thinking

Which of the is a typical

characterstic of students having autism ? )

following

(1) Frequent repetitive and recurring

behaviour

(2) Higher level of communication skills

Superior ability of differentiating fiction
from fact

(3)

ok{C]

)
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(4) Advanced socio-emotional reciprocity
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20.

21.

(¢

Which of the following is an effective method

to enhance pmblem-solving skills in children 2
(1) Providing them  with  ready-made
solutions to problems
(2) Giving them opportunities to brainstorm
and make intuitive guesses
(3) Discouraging independent thinking and
focusing on declarative knowledge
(4) Encouraging them to avoid difficult
problems
Read the following statements and choose the
correct option :
Assertion (A) :
Teachers should create a meaningful
environment which seeks active participation
and engagement of all children.
Reason (R) :

All children are intrinsically motivated to
learn and are capable of learning.

(1) Both (A) and (R) are true, but (R) is not

the correct explanation of (A).
(2) (A) is true, but (R) is false.
(3)

(4)

Both (A) and (R) are false.

Both (A) and (R) are true anc (h, is the
correct explanation of (A .

Experiential learning strasse: on :
(1) importance of cr:tical reflection.

(2) learning ¢s a pioduct rather than a
procer 3.

coni~o] of teacher on the learning of
childre:

the role of reinforcement in learning.

(3)

(4)

Which of the following process

does not contribute to the course of learning ?
(1)
(2)
(3)

Conceptualization
Decontextualization

Organization

(4) Categorization

20.

21.

22.

23.

. (4)

» (1)
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P-1/C (8)

24.

25.

Read the following statements and choose the (24,

correct option :

Assertion (A)

Interaction with more knowledgeable others,
such as teachers and peers, can provide the
necessary support and guidance to help
learners develop their understanding and
skills.

Reason (R) :

Social interaction is a key component of)

learning and development.

(1) Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

(2) (A)is true, but (R) is false.
(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is thel

correct explanation of (A).
|

R
e
Crerfiaa oAl &1 (G0 AT "# w5
g9 FIfA0 :
hyFeA (A) :

Sﬂmﬁ;ﬁﬁiﬁ F FH WA
Frorer fyafad i § 7ag H ¥ form AT
sk 3t AR SEA A AR .
FR (R) :

A dud dies i @ HTE T
e 2 |

() 3 (7) AT @@ &, T (R), (A F
48l e 78T 2|

(2) (:_\H?f%,cl'(:@(RJ!TFTH%I

3 (A) MR A TATE

(1)

Yo (A) 3 (R) ST TE E 9T (R), (A) FT wA

According to Lev Vygotsky : 25.

(1) Language development anc cognitive
development advance indcpenden. ‘rom
each other.

(2) Language developmen! facilitates
cognitive development. :

(8) Social factors  influence  language
development, but not  cognitive
development.

(4) Coguitive development facilitates
languag~ development.

At wiiich level of Lawrence Kohlberg’s moral
reasoning, do children typically believe that
people should live up to the expectations of the
society and behave in “good” ways ?

(1) Conventional level
(2) Pre-operational level

(3) Post-operational level

(4) Pre-conventional level

AT R |

AT AT & AN

1) o w3 @ 9w uEaw
@ v d fasfaaad &

(2) v fasm, @FmTrE faw o
AR |
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27.

19

One of the main  characteristics  of
pﬁ._ﬂp.eratinnal thought according to Jean
Piaget 8 ——— which refers to the

tendency to focus on one aspect of a situation
and neglect others.

(1) Decentration
(2) Transduction
(3) Causation
(4) Centration

Physical growth and development follow the

and principles of
development.
(1) proximodistal (top-down); cephalocaudal
(inner to outer)
(2) differentiation (simple to complex);
integration (complex to simple)
(3) integration (simple to  complex);

differentiation (complex to simple)

cephalocaudal (top-down); proximodistal
(inner to outer)

(4)

In early childhood, growth ____ and thinking
is , while in middle chlldhuod growth

and thinking is

(1) is steady, logical; slows, egocentric

(2) slows, logical; is steady, egocentric

(3) slows, somewhat egocentric; 18 steady,
logical

(4) is steady, somewhat egocentric; slows,
logical

Which of the following is a gross motor skill ?

(1) Cutting along the outline of a circle on a
paper

(2) Cutting along the outline of a big
rectangle on a paper

(3) Kbnitting

(4) Swimming

27.

28.

29,

30.
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Wt (o), wHigey (FAtE H
aTEdl)

(2)
(3)

(4)

i Ao H g AN
g, aﬁmaﬂwﬁaﬁ;
3R | 2
(D ﬁ?ﬂ%,m%;%ﬁrﬁ,m%ﬁﬁ
efrefy, arfehen; feor 2, ereR{sd

(2)

. (3) tﬁﬁg@a&wmﬁam%aﬁaﬁ

(4) Ro?, 9 72 aF ATHHI, efidt, aifde

frefefiaa & & SH-81 Ty Tfde H @ 2
(1) U FATS T T HI TGN o IFTE HTAT
(2) TH FOF W TF G HAG F FO@ F

ST FIAT
(3) 8
(4) O
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Directions

10

PART II / 91T 11
MATHEMATICS / wifora

fdor : Fafrfan oA & 39 39 % Fr a@ e

: Answer the following questions by

selecting the correct/most appropriate option.

31.

32.

33.

Which of the following is the most appropriate
way to help a primary school learner visualize

2
the equivalence between the fractions . and
4

6
(1)

(2)
(3)
(4)

9

Using Fraction Discs
Using Calculators
Using Division method

Using LCM (Least Common Multiple)
method

Subitizing plays an important role in

developing the number sense. Which of the |

following is an example of a student

demonstrating the skill of subitizing ?

(1) Student recognizes the number 4 as ‘he

number with 1 taken away from 5.

(2) Student recognizes the number 5 as the
successor of 4.

(3) Student recognizes the number 6 as 1
added to 5.

(4) Student rolls a dic and is able to say it is

four without actnaily counting the dots.

According to the National Education Policy
(NEP) 2020, olympiads and competitions in
various subjects willbe _ _ across the
country.

(1
(2)
(3)
(4)

discouraged
reduced
made easier
strengthened

s

3 ldsey g7 /

31.

32.

33.

frafafas o @ 9w yfrs Saem 3
ﬁmﬁﬂﬁ:éﬁ%k%w#

FUT A H U A 6l 9T ITAh qF1 2
fir fewr 1 3um

(1)

(2) el i ST

(3) fergrsm (o) Tty =57 3
(4) mgTe aaTaed fafu @ 3rEm

g v faefid 0 #§ IURET (Tt
r{q‘,ﬂﬁﬁt{\ﬂfﬂﬁﬂﬁﬂﬁﬁ%lﬁﬂﬁ#@ﬁﬁﬁ
&A1 Jereor 2 S fammeff d 3w F Fve

T YS9 AT R ?

(1) faemff g@ar 4 Fr gz 5§ 9 1 GEEn
FEITFEATE |

(2) Taemeff vem 5 1 g9 4 & wadT & ®=y
U2 |

(3) Toremeft e 6 it ye=g 5 1 SEA F =y
T Al 8 |

(4) W@wm%ﬁnﬁmﬁvm
f@ﬁﬁwwﬁmﬁ%wW

|

ﬂ@aﬁmﬂﬁr(mp}zozo%w AT H
fafhr= fwal o snfefyore 3ﬂ'{ fefirand

gt |
(1) Ediearted
(2) w1
(3) WA
(4) TS

SPACE FOR ROUGH WORK / 1% @4 3 fera w1z =
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84.

35.

SN

Classroom researches have shown that mos of
the students find mathematics more difficy
than the other subjects they study in the same
class. Which of the following aspects of the
nature of mathematics adds to this fear 2
number
solve a

(1) The scope of a
methods to
mathematics

problem ip

(2) The abstract nature of primary concepts
in mathematics

(3) The vast knowledge base of mathematics

(4) The scope of multiple answers to a given
question in mathematics

According to the National Curriculum

Framework, 2005, classroom researches have

indicated a fairly systematic devaluation of

girls as incapable of mastering mathematics
even when they perform well in mathematics.

What is the most appropriate reason for this ?

(1) Gendered constructs of society have led to
the belief that boys use more innovative
strategies for problem-solving and thus
have better conceptual understanding.

(2) The mathematical abilities in boys are
innate.

(3) Poor performance of girls in mathematics
is due to the fear of mathematics
prevalent in them.

(4) Mathematics, by its
male-dominated subject.

nature, is a

A teacher uses role play’ method in
mathematics class. Her aim is :

(1) entertaining children.

(2) maintaining discipline.

(3) keeping children busy.

(4) projecting ideas.

of different |

34.

35.

36.

P
aaeft o1 A7 2ot A i Pzt afma
o1 36T FeTH A 47 fr A vga # s wifus
fa w2 ) fora £y wafa w1 frrafafer |
¥ FH-H1 T8 30 97 A1 G141 2
(1) ford & Tt g %1 gqupsma #F4 # Ao
(2) g o urafa® smEymonsr AroqEd

FEaT '
(3) Tfor fored - u@w
(4) i g feu o gwa
Tl

% 397 B

T A=At ST, 2005 F AW, FaA]

aumﬁwws.mqma?%amrﬂrr&m

1 “faaagar & arg T " 3T F6 AT

FaTEa AT & Sdfe d T A= 939

‘Tﬁzﬂ

T T 3T FHIO AR 2

(1) mfﬁ%ﬂmﬁﬁwsﬁmzﬁ
3R o ot & o g guer-auTaH FH
SreT Fe FTEERET I #wd € 3N
el

(2) e O arEdrd S ¢ |

3y TioTe F SR 1 @ Tei 3996 1
& wid waferd 99 % HH0 EaT & |

(4) TiforE, ol SRt gRT €, Tee-me fe
-2

e forfaeer TfoTa e & T (e BT
ffer 67 SUAMT T 2 | IEFTR/HE B

(1) w=a Sl A |

(2) SR ¢ TG |

(3) w=dl I oFEd T |

() fo=mi v afedyE |

SPACE FOR ROUGH WORK / T% @ & fére wre
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37.

38.

39.

Who among the following has worked in the

field of mathematical astronomy ?

(1) Ramanujan

(2) Mahavira

(3} Arvabhattg

(4) Bhaskara I

A vegetable seller was selling spinach for

¥ 60 per kg. Sonu purchased 350 g of spinach

for  which the vegetable seller took

T2 (6 + %6 4+ 74 . ¥ 3) from Sonu.

Which of the following statements 1s/are true

regarding the mathematica] skills used by the

vegetable seller ?

A. This mathematical ski]] 1s ambiguous,

B. This skill is not useful to solve
mathematical problems in class.

C.  Such skills help in developing alternate
strategies for solving mathematical
problems.

Choose the correct option :

(1) Only B

(2) OnlyC

(3) AandRB

(4) Only A

Which of the following depicis a situation

where children are constructing knowledge on

their own ?

(1) Children are given manipulatives like
number grids, tolens arranged in
rectangular arrays and they are exploring
multiplication patterns using them.

(2) Teacher  thas written incomplete
multiplication tables on blackboard and
children are completing the tables by
wrting them on blackboard.

(3) ‘The best student in the class reads aloud
the multiplication tables and rest of the
students repeat after him/her.

(4) Children are reciting multiplication

tables in a chorus.

11219

317.

38.

frfafag @ o e miorda @mE- AT 4o,
o R e 2
(1) THTISH

(2) WEENR
(3) HAAWE
(4) WTEHL |

e a1 A= AT TTF 60 Wi oA A

o7 | |19 T 350 AW Ters o oEes fAU e

A AA AT H T 21 (T 64T 6+ T 6+ 2 3

form | Fesft 39 el gm0 S # A g

oy st ¥ werg § FEfafas o g

ATV G 6 /8 2

A TETNOTEE FVA AT R | o

B.  J¢ F 91T Ha ° MO G941 FT A 7
& foAu SArveras 48 2 | ‘

C @ A TfdE S A oed #0 s
Fpfeus afisi #1 fawfoad # o ges
B E

el farered g -

(1) HddA B

(2) %'h—cmc

(3) A3MB

(4) Fad A

Ferfetfaa & § s affefy o= 2ot 2
= 19 1 i e ¥ o

(1) = H T quh 3 s F

G e |

() FfesRn 3 wmmg v s gRr fem #
a@wmﬁmm%@wq\nﬂ
w2

(3) T T HAH TH/DHT TR 1 55 =

TG A R o A & frem aw
fr-dies S 3|

SPACE FOR ROUGH WORK / T% ®Td % fern wmmg
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40.

41.

L I

Which of the following statements g4 not

correct about assessment 7

(1 (‘ritorion-rvhrr'ont‘vd assessment is usefy]
in diagnostic  testing  and  remedial
teaching.

2) Norm-referenced  assessment  tells  ys
where a student stands as compared |_(}
other students in his/her performance.

3) Ngrm-referonced assessment is useful in
diagnostic testing and remedial teaching.

(4) Criterion-referenced assessment is to
evaluate the mastery learning of the
students.

Concepts like more-less, long-short, far-near,

big-small, etc. are :

(1) Simply English language adjectives.

(2) Important pre-number concepts.

(3) Vague terms for comparison.

(4) Antonyms, not necessary for learping
mathematics.

Mathematical learning material :

A. helps teachers in demonstrating the
formulae.

B. helps students in self-learning.

C. helps teachers in providing instructions.

D. develops learning environment in the
class.

Choose the correct option :

(1) Band D

(2) Band C

(3) Cand D

(4) Aand B

Which of the following statements is not

correct ? .
(1) Errors in mathematics help teachers in

planning their lessons.

students should be

(2) Errors of the :
overlooked as pointing errors will
demotivate them. _

(3) Errors of the students give information
about their thought process.

(4) Errors in mathematics are part of

b

40.

41.

42,

43.

P
Hlehedd F ol 0 (fefons g o0 a0 444
adt a8 20
qHES- @A A1kt darfaa, it s
T foramr g g 2
qEF-HaMd HiFad el aqr4r 2 f4 78

(1)

(2)
faenefi 3194 wasia 8 s faafdn £
[GELRRE T RCEALCEARA

(3) HEF-HIMA SHeAd Jarfar aitem s
ITTeHF foreor o 3oy 2

(4) "HAces-gahta Arraa Azt 1 afamm

T FQOTAT 1 T F
sAftrer-oF0, SE1-BI7T, 7T, TS, 3108
(1) € et o FHusft s fagryor # |
(2)  TETU G-HEAT (Sf-THET) ST # |
(3) e fa srere wse |

(4)
YIS T8 2 |
A, T F WaTH H fyrershi 1 gea Fdt 2 |
B, w=a: sttt A fanfue f qeg FAT R
C. fadw 2 foregent ol mee #idi 2|
D, ar # ATy FaEr & AEi a8

3T HA 2 |

(1) B3R D
(2) B3MC
(3) C¥RD

(4) A3MB

freferfiaa AT § 9 S-ar ag T8t 22

(1) Tior 8 Afeat et F 396 TS T AN

A H qae it 2 |

fererrii =Y Afeat =t s s 2 =fey
|

(3) fﬁmﬁiﬁaﬁgﬁﬁﬂ%ﬁlﬁﬁﬁm
(Fefa) & a7 St 2 |

(4) Triorer ¥ Aferat srfermm 7 fewan Edt

(2)

learning.

e <
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44.

45.

(4)

To

among

develop mathematics

appreciation  for

children, 4 teacher performs  the
following activities in the class. Choose the
one which is not effective to achieve her

objective.

She puzzles and

magic squares to be solved in the class.

(1) gives mathematical

(2) She establishes a mathematics corner in
her class where students can perform
various mathematical activities.

(3) She always praises the student who

achieves highest marks in the class in the
term-end examination

She shows
Indian

(4) to children the videos on

mathematicians their
contributions.

and

Which of the following statements about
nature of mathematics are most appropriate ?

A
B.

It helps the child to be creative.
It

helps in nurturing the child’s
imagination. g
C. Itis based on deductive reasoning.
D.

It is always convergent,
Choose the correct option ;

(1) Aand
(2) AandB

(3) A,BandC

B and C I

e

44.

ORic
WM,

F=at & nfordtg sthrefa #1 fawfaa #2093 fon
¥ wyufusr fretatad nfafafat s 340 5
FAT # | 3 | g€ A0 S ITF T Aoy
F H et 72T 21

T & fe &t 2 |

38 7l et § v T FET A
2 wal W faemelf fafimr aftredfia nfafafus
FYFA B |
aggﬁmwﬁaﬁﬁmaﬂ?ﬁ%ﬁ
T Wi Ge § gad 1 3t gy
A AT 2 |

qE F=dl F YRAT USSR 3w
ArTeTl % it frgrdy 2

(1)

@)

LY -\4_5

145, Frfeifiag o @ 514 ﬁmﬂﬁmﬁwﬁf#aﬂ

frﬂaﬁr‘o“qw%?

A. waﬁaﬁwmqﬁmm
2

B. %ﬁﬁwﬁﬁfﬁamﬁm
FLATR |

C. Wﬁ"TWrWﬁéﬂ?(ﬁéﬂWWfﬁﬁ%l

D. 7® =9 Afiam g |

Hel fere =fi

(L A3NC
2 A3RB
» 3) A B3C
4 Bafrc
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46.

47.

49.

i
which of the following arrangements
represents a descending order of numbers ?

(1) 105, 1:05, 1-055, 1-50, 1:005, 0-155
@) 105, 1-:50, 1-05, 1:055, 1-:005, 0-155
(3) 105, 150, 1-055, 1-05, 1-005, 0155
(4) 105, 1005, 1:50, 1:055, 10-5, 0-155
The sumof 8 =5 +5-5+5-5 . . , to odd
number of terms 1s :

(1 -5

2) &

(3) 15

4) 0

‘One hundred lakh’ is also known as :
(1) One crore

(2) One million

(3) One billion

(4) Ten crore

A whole number is added to 100 and the same
number is subtracted from 100. The sum of
the two resulting numbers so obtained 1s :

(1) 50

(2) 100

(3) 200

(4) 0

Which of the following is not a factor of 3630 ?
i &

(2 9

3 11

48,

47.

48,

49.

50.

P

frafafea @ = NAH cqqrg T @l
swatid w9 ¥ e #d 2 o

(1) 105, 1:05, 1-055, 1:50, 1-005, 0-155

(2) 10-5, 1:50, 1:05, 1:0565, 1:005, 0-155

(3) 10:5, 150, 1-:055, 1-05, 1:005, 0:155

(4) 1:05, 1-005, 1-50, 1:055, 10-5, 0155

5_5+5-5+5-5 ..., % faun geq 92i &

AMEA & :
(1 -5
(2) 5
(3) 15
(4) 0

‘v W AE@ B AEARgd ®9 0 ot ST AT
£
1)
(2)
(3)
(4)

100 B T qol HEE el Sl R 3 et Jw
s 100 § B 71 & Wit 3 | 39 TER WH &
ZH1 G H ATE 8

(1) 50

(2) 100

(3) 200

(4) 0

fefafea 8 € S48 3630 H Th OHEETS
T 2 ?
(1) 5
2 9
(3) 11
4) 3

'?gga

4) 3
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51.

52.

565.

Sangeeta wants to buy a soap that costs T 10,
She has a five-rupee coin, 2 one-rupee coins
and 5 fifty-paise coins. How much more money
does she need to buy the soap ?

(1 T 1-50
(2) ¥ 200
(3) T 2:50
4) T 050
Rubina started her journey by car at

16:50 hours and finished at 21:15 hours on the
same day. The time taken in completing the
Journey is :

(1) 4 hours 25 minutes

(2) 3 hours 35 minutes

(3) 4 hours 35 minutes

(4) 3 hours 25 minutes

Select the group of fractions in an ascending
order :

]
(1) 1 < 4 < 1 1‘
2 3 4 .
(2) l < 1 < -1—
3 4 2
(3) _1_ i 1 < .];
4 3 2
(4) l < l < l
2 4 3
Priyadarshini mixed 4-8 kg  of almonds,

2500 g of raisin and 3.5 kg of cashews and
packed the mixture equally into three dozen
packets. What is the weight of each packet ?
(1) 300¢g

(2) 500¢g

(3) 650g

(4) 250g

The side of a square is 5 cm. How many times

will the new area become, if the side of the
square is doubled ?

(1) 3 times
(2) 4 times
(3) 8 times
(4) 2 times

( Iﬁ’

e
Ol N

51, @iftq ve ared @ied =wd R, Gew g,

52.

| 53.

55.

710 2 | 3% TH UH 99 Y h:mn
o T FU ¥ faaeh 3 5 w9 AW F frres, 5
38 g @fed & fou i feddt wanfs £
FEE B ?

(1) T 150

(2) T 200

(3) T 250

(4) T 050

w1 A HR A 1650 T ATH A IE A
3R 3H fom 2110 &9 T | T g
W form o awe ®

(1) 492 25 T

2) 342 35fEe

(3) 472 35 e

(4) 3% 25 fime

(1)

A

o e A i - A

A

SOl B = B = | =

(2)

A
A

(3)

A
A

(4) <

Tt

356 kg ¢
ST
FT HR 91 8 2

(1) 300g

(2) 500g

(3) 650¢g

(4) 250 g

‘qa; aﬁ -‘f"f 5 em
T H R S, A
Elle

(1) 37
(2) 47

(3) 8T
4) 27

A

[ N e e ] R

48 kg WM, 2500 ¢ fopwfuwy 3
H N e @n sm fgmw &

T W 1 R | wer 3%

| EIRE)

At 3| a ‘
%A ey T A

2
T
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58.

57.

59,

{1

Which of the following statements is not |5

true ”

(1) A rhombus becomes a square if all its
angles are equal,

(2) A parallelogram becomes a rectangle if all
its angles are equal.

(3) A kite becomes a rectangle if its opposite

angles are equal.

(4) A rectangle becomes a square if all its
sides are equal.

What is the missing number in the pattern

given below ?

1. 6 15, 45, 66, 91

(1) 32

2y 25

(3) 36

(4) 28

Read the following table :

—

Blood Group | Number of Students

A 9 ]
B 6
@] 12

| AB 3

L Total 30

What is the ratio of the most common and
rarest blood groups ?

(1) 4:1

2 8:1

3 14

(4) 1:3

Ammini is arranging 36 idcntical squares in
the form of different rectangles. How many
different types of rectangles can she make
with these squares ? '

(1) Five

(2) Six

(3) Eight

(4) Four

Which one of the following groups have all
3-dimensional shapes ?

(1) Cube, Cuboid, Circle, Triangle

(2) Cube, Cuboid, Sphere, Cylinder

(3) Cube, Cuboid, Semi-circle, Cone

(4) Cube, Cuboid, Circle, Cone

67.

58.

59.

60.

P11

fqafeafaa 4 8 P30 %94 g 78 » 0

(1) uf2 vk FEAAY A F o a e 7,
I8 UF a1 &4 A4 2 |

(2) e v wAIR HGYA & wft w0 @A
g1, @ 98 UH ¥4 74 A 2 |

(3) afe vw gAn F AOgE FW T A, A A7
Uk A 4 A R

(4) Ife ww A 1 o gw g 7@, @

98 T a1 S AR
9 faw mu ded ° od g=g #7122

1,6,15, 45,66, 91
(1) 32
(2) 25
(3) 36
(4) 28
frafafes afas 1 afew

% GHE e # Ged
A 9
| B 6

0 12
| AB 3

Hel 30
&1 U #0187
(1) 4:1
(2)..3.:1
3) 1:4

4) 1:3
sfEdfl 36 TaEH 9l F IC-HAT THR H
Al W sgafead &+ @ 2 | 98 3 a gl
SR YT 6 fhad 3Fa 1 dahdl 2 2

(1) 99

(2) &

(3) 3

(4) SR

fiofafes wgel 8 & feed o Gosmmd
spfaal & 2

(1) =, %™, 39, B

(2) ©4, g™, e, ST

(3) =, 99, 3M-gd, TH

(4) T, 9™, I4, TP
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Directions -

sclect nyr

61.

62,

63.

[ 1K)

e
s

PART I / \m 101
ENVIRONMENTAL STUDIES |/ qgtatol Heqd

Answer the following questions by
the correct/most appropriate option.

You w
stude

ant to encourage hands-on activities for

nts of EVS. Which of the following is the
MOst appropriate activity ?

‘1Y Developing an EVS kit from available
material

‘2 Drawing parts of different plants on a
chart

(3} Map reading from a globe

(4)

Collecting coins of different countries

Farmative assessment of EVS is
A Assessment for learning
B, Assessment of learning
C.  Assessment as learning

D.  Assessment about learning

Choose the correct option :

(1) Aand C
{2) BandC
(3) CandD
4/ AandB

Read the following statements and choose the
correct option :
Assertion (A) :
Field

strategy in EVS.

Reason (R :

Field trips promote memorisation of objects,

trips are an effective pedagogical

events and places.

(11 Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(2) (A)is true, but (R} is false.

(3) (A)is false, but (R8s true,

(4) Both (A) and (R) are true and (R) is the

61.

63.

correct explanation of (A).

62.

R ﬁz:n%ffaayﬁ%wé#%ﬁmﬂﬂm
s s G |

i Sow & e F ~'f“'E"TT{ AT
sttt swafea Fe A 8 | Pt
F & 5 fore G R 8 )

1) ITeey mwr # dfem fRe i

FAT

(2) T o w fafis @t & v #5 fa
AT

(3) TATE § A GGAT

4) Tl 2T & foaes usfaa F

$ofug & fou =TS e 2

A HrET % foaw s
B. dhEd ¥ A

C. AR % w9 § e
D. e F A9 S

(1) A3TC
(2) B3 Q
(3) C3mD
(4) ASRB

freieTiaa @i #r afen qur Tt faen &
Wﬁﬁﬂl

e (A) -
éaarqqﬁeﬁiwwm%ﬁammﬁamﬁ%él
FHY(R) -

F Fgrar 21 2 |

(1 (A) 3 (R 3T wE ¥

(R, (Al C’ﬁT
T ST T R B

(2) (AFER, IR (R T R |
(3 (AT}, W (R) WA R
&) (AL (R & BE E qur (R), (a) 1 EE

TR |
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64.

(19

You have to select BVS ¢,

Xthooks for vour
students of classes 1 (g v Whi{‘hm i:\“}l“
) i ) : 13 .
following criteria is most appropriate fu :]‘
M > rthis
(11 The textbook should be illustrated and
appealing to students
2) The textbook should be child-oriented ang
devoid of any stereotypes or derogatory
attitudes based on gender, caste, claq::
and religion.
(37 Pictures in the book should be big and
colourful.
(4) The language should be simple and
according to the mental level of students.
Read the following statements and choose the

correct option :

Assertion (Al :

At the primary level EVS has themes instead
of topics.

Reason (R) :

Theme-based EVS learning easy for
teachers and students as compared to topics.

18

(1) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(2) (A)is true, but (R) is false.

(3) (A} is false, but (R) is true.

(4) Both (A) and (R) are true and (R) 15 Ithe

correct explanation of (A).

Which of the following is not a learning
outcome in EVS for students of Class I117?

(1) Observes rules in few local, indoor,
outdoor games

(2) Identifies directions of classroom

(3) Voices opinion on good and bad touch

(4) Voices opinion on 1ssu.es
observed/experienced and relates to social
practices such a8 discrimination in

ownership of resources

684.

66.

P
AR F 1 HV A4 4 st franfdar 5
ﬁ:“—’.ﬁ\ UH TSA-PAF] FT 094 4041 3| 1
kv % fau famfafaq o 0 29 a1 gz gan
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(1) Fg-qeF A gl i faentdm 4 oo
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Ffeafadr a1 S9aSHH e § 2
gt e |
(3) T H ol &g i of & =t
(4) ATH ®A AW faentin & omfos = %
FHEH1 2t =fen |
= Hifso
HTFYT (A)
TTITHE T 92 Sdiug | fawai & a9 fiF 2 |
FOT (R :
fawr F1 qemr o oftigosmni e daan
frerer ST FarmTiofat 3 fore e 2 |
(1) (a) 3 (R I A@E F, WA (R), (A F
et AT 7ET 2
v(2) (A)FER, T (R) Tl 2 |
(3) (A) TSI 8, T (R) HE1 € |
4) (A) 3T (R) AT AL E T (R), (A) T Hel
TR |
a1 1] & Tt & foru eow o frafafaa
¥ O F.ar diay &1 afom (et wfase)
T8 29
(1) %@ T, $HER, ISR weil d e

1 ATATHA FAT
a1 1 fEemaAl i gg=E AT

(2)
(3) oT= TR gL Tl o i 7y g FAT
(4) W TQIANF fHT T HE W AT 33T

3R TETE F el | gatud w44
e 3 i 4
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Which of the following options is a major

67.
objective of teaching EVS from classes [ to V ?

(1) Developing in-depth understanding of the
basic concepts of the subject

(2)  Helping learners link classroom learning

to life outside the school

(3) Acquiring skills to carry out hands-on

activities independently

(4)  Preparing students for studying science

at the middle level

68. Ms. Sheetal likes to use stories and poems in
primary classes to explain various concepts of

EVS. The most appropriate logic for her using
stories and poems is to :

A.  complete the EVS syllabus as well as
students have heard them before coming
to school.

B. encourage the students to write their own
poems and stories.

C. make the students aware of diversity in
language and culture.

D. make the lessons more interactive,

enjoyable and interesting.

Choose the correct option :

69.

(1) B,CandD
(2) A, CandD
(3) Band C
(4) AandB
Anita prepares a unit plan to teach the theme
Family. Which of the following will be the title
of her unit plan ?
(1) Family : Relationships within a Family
(2) Family : Relationships, Gender Roles,
Occupations, as socio-cultural entity in
changing times
(3) Families : Migrating families
(4) Types of Family : Nuclear and Joint

P

o e

fefafmr g g #hm fara 30 12 v =
SR 17 F1 vF g eI P

)

67.

(1)

farfam #rn

L (2) &wﬁmmm*ﬁmﬂm—a;
ATeT & M99 | ATed 0 922 F1

(3) Tax &9 ° AEeiaE FarFam #5713

(4) faenfda =+ fufed =7 = fagm =7 =
foTu S #=2T

68. APl Sfieret seffem #1 fafw=y sumomsT £
"9gE # e it el § warfa o
HAATT T ITTNT FHAT G862 Fd] € | I9F 70
Wﬁﬁaﬁ?'m?mﬁ"%maﬂmm{ﬁ#
2.

A $HU" % TISAEN FT W HET WY HY
%mﬁh‘ran‘rwaﬁmﬁqsﬁ*mw
BT |

B. foentefai 1 st sfaanati sin st
1 foe & foru wreanfeq & |

& ﬁmﬂa‘raﬁwﬁnaﬁﬁ%qﬁﬁumsF
N A% ST |

D. Sl I AuF wawEers, eteCl It

fee=areT s |
Hﬁﬁmﬂﬁq

~(1) B,C3RD
£ (2) A CSRD
(3) B3RC
4) A3INB
69. 3IAT 9fER o #1 wer F forw vw 37 A

IR AT B | Trafafaa & & S5-a1 396 @
TISHT 7 it 2o 0

(1) gf@Er . v qftan & ofidt gay

(2) wiam . gav, fom yfwsnd, s, aewd
W § oA T F w9 A

(3) Wgﬂ@w

(4) W%W:Wm@fﬁ

Scanned with CamScanner



8

70.

7L

72.

(20

A teacher wants to select synchronous

communication with her students for tsaehit

EVS. Which of the following will she choose ?

(1) Instant messaging, blogs,
tele-conferencing

(2) Video conferencing, online chat sessions,
phone calls

(3) Phone calls, pre-recorded videos,
tele-conferencing

(4) E-mail, social media posts, phone calls

While teaching EVS, a teacher’s

statement/question, which encourages

students to elaborate on an answer either on

their own or from the response of their peers,

is :

(1) Chaining

(2) Trial and error
(3) Probing

(4) Conditioning

If theme Travel : Railway Station depicts

: ; .
utilisation of a community resource 1in EVS,

which of the following will complete

?

theme Food :

(1) Shopkeeper

(2) Farmer
(3) Agricultural farm

(4) Forest

70.

71.

72.

P-/C
o fyrfersrt $40m foremt # fou gy Frenfelt
Wm (Fg=rra) wormr 71 59 =1
aredt 2 | 7 fefataa 5 & fFg gf o
(1) aft| gew1, s, Teft-wiantan

()  Afzar wi=RfET, 3oz 92 "3, wH
!

wH i, I1-ferres Aifea, edfi-wiablan

(3)

(4) 30, €9 difear e, $IF Hid

Seftug fareror o AW, us fers &1 AT /aeE S

faenfofat &1 w2 ar a9 anfert 1 wfafwms
F 30 1 forga F F foru wicwnfed FaT 2
(1) =T

(2) e SRR

(3) @ISOl T

(4) ST

afe sftq am - e1d WY 340§ U wHETa
HETA & YA I a9 &, dt Feftad 3 9

/I QT - off IS 7

(1 W
(2) foHam
(3) Y FH
(4) ST

Scanned with CamScanner



P
73.

74.

75.

W t 22

Read the tollowimg <iatoments and choose the
correct option

Assertron (A

learning of EVS needs to be oriented to
skills  relating o
identification, classification, ete
Reason (R

Through acquiring various process skills, the

learning  outcomes of EVS learning are
expected to be achieved.

Process observation,

(1 Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(2) (A)is true, but (R) is false.

(31 (A)is false, but (R) is true.

‘4) Both (A) and (R) are true and (R) is the
correct explanation of (A).

An EVS teacher should lay emphasis on

while preparing question paper for
summative assessment

(1) Total marks and content coverage of the
question paper

(2) Length and total marks of the question
paper

(3) Length and objectives of the question
paper

(4) Content coverage and objectives of the

question paper

An EVS teacher demonstrates an experiment
in class in which an egg sinks in a tumbler
with water, but floats upon adding salt to the
water. Which of the following is the most
appropriate explanation she can give to
students’ enquiry ?

(1) You will learn the correct reason in
higher classes.

(2) Conduct and obhserve the experiment with
different amounts of salt,

(3) Allow each student to conclude on their
own by adding different items in water.

(4) The egg floats due to density of water,

73.

74,

75.

Ohic
>
Ot

friafeafraa #uai #1 afgn aa gy fpee 4,
74 FtA

HFAA (A) -

Hvg # g F1 ATAVEA, TEAH oo
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a&t e 78 2
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U U AR #d § . W OFw oI
=ifeu |

(1) S99 o A S 3wt Fars
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(2)  STCTT-3(E W B AHE & wy 9
3N IGHT 3Tt H | ’

(3) S faemeff & gt & fabwsr 950
At &y e fararad & |

(4) 9T & g9 & FHI) 37 AT 2 |
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76.

Tl

78.

79.

P-I/C

[ 343 3
Match Column A |
g and Column 13 - 76. 34T A MW AR BT e ,fﬁ—,m
: Column i
’ ey rqiy

A. :u;:m ) Appears like o nail 4 !_f

B. Saffron it Ositaied in South A. st I. &rq 41 qrz farga 2

~ Chillies Aecion B. 1. afeoft gufrar g 3m1fq
(s .‘I : 1. Yellow in colour o [ LT e i 1 3

D Chowe IV Small but fragrant ; -

, D. & IV. 2121 A AT

(1 A-IL B-IV, C-1, D11 (1) A-IL B-IV, C-1, D-II s

2) A-IV, B-1, C- i Lokt et bl
\ » S, D (2) A-IV, B-1, C-111, D-II
(3) A-L B-NIL CI, D.1v (3) AL, B-IIL, C-II, D-IV
(4) A-IV, B-III, C-11. D-1 . (4) A-IV, B-1I1, C-II, D-I
The coastal State/Union Territory of Bay of 77. ST #1 @El &1 dad] Usd/F-E-IEd 929
Bengal is : g
(1) Kerala (1) @
(2) Telangana (2) qATET
(3) Odisha (3) afifeem
(4) Karnataka @) e
Feasiien e Tolinn iatements aboat| 7" stedt & & & Frefafiad wet @ fq9m Fif

0 e followin s .
forests : g statements AbOUE) A ggeR T i ‘AT o1 A ST €
A. ‘Torang means forest in Kuduk language. B. FEsE A, 7T q'”%(“-‘W) aret aEW
B. The Village Council (Panchayat) in ¥ 97 7 e ¢ fr frw ufam = #w &

Jharkhand decides which family will get
how much land for farming, by lottery.

C. The Right to Forest Act, 2007 gives the
rights to people who have been living in
the forest for at least 15 years.

D.  About three-fourth people in Mizoram are
linked to the forests.

The correct statements are :

(1) Aand B
(2) Aand D
(3) BandC
(4) AandC

What is the mass of an object with a density of

24 g/mL and a volume of 6 mL ?

(1) 143 g

(2) 144 ¢

(3) 146 g

(4) 142 ¢
P
\A

ot fepaft w3fir firet |
C. Simel AfUST FFH, 2007 I AN FH
arfueFr feamar 2 S FUUFHF 15 a9 §
SATH B R 2|
fistien o e dF-<tTd @ STl |3 99
Gl

(1) ARB

(2) AIWD

3) B3IMWC
. (4) AFRC

79. 24 g/ml TFed I 6 mL A ATl TH] H
TSI T &I 7
(1) 143¢
- (2) 144 g
(3) 146¢
4) 142

D.
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8O,

81.

82,

(24)

Consider  the
plants .

A. To produce and store food

B. To give strength and support to the plant

C. To transport water and minerals from
roots to other parts of plant

The main function(s) of the stem is/are :

(1) Only A and B
(2) A BandC
(3) Only B and C
(4) Only B

following main  functions of

Read the following statements and choose the
correct option :

Assertion (A) :

On applying pressure, gas can be compressed
easily.

Reason (R) :

When we apply pressure to a gas, the

intermolecular

space  between gaseous

particles decreases and it gets compressed.
(1) Both (A) and (R) are true, but (R) is

not the correct explanation of (A).
{2) (A)is true, but (R) is false.
(3)

(4)

(A) is false, but (R) is true.

Both (A) and (R) are true and (R) is the
correct explanation of (A).

Consider the following statements A and B -
Statement A :

In Manali, houses are constructed with wood,

slanting roofs and elevated on strong bamboo
pillars.

Staternent B :

Manali receives a lot of rain and snowfall.

Choose the correct option :
(1)
(2)

Both A and B are incorrect
A is correct, but B ig incorrect
(3) Ais incorrect, but B is correct

(4} Both A and B are correct

80.

B1.

82.

L2

vt & frfafeaa g w1t v fene £1f A1 -

A, VIS T 3ENEA 3T MZI0 A

B, v a1 wifek 37 gem 2 |

C. Y % = VT FN A A AA 3 orghy

EARIEIGIUIERE]
T 1/ g 1 2R
(1) %l A 3B
(2) A B3IMC
(3) B HNC
(4) FIAB

Frferfiaa @t #1 afgn qun wd fawes 7
Wﬁﬁm

YT (A)

& R T, T @ A @ wifed
TFAl 2 |

FRU (R) :

St & foRelt T O g9 ohTd €, Y T 0T 3
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HEHET 8 wifed & ST 2 )

(A) 3 (R) 31 | & %, T (R), (A #
el AT TE |

(A) TN R, T (R) Td B |
(A) TeTq 2, T (R) §H |

(A;afr({ma‘m*m-“r%amm (A)F &7
T ¢ |

(1)

(2)
(3)
4)

ﬁﬂ%@ﬁmﬁAaﬁIBmﬁwﬁﬁq:
FYTA :

HATET H, @IS] Bell ATt Hfelel ST 36 @it 97 59
3&ﬁmm%mmm%l
FYIR -

AT afeet stgd 2t 2 st o ot wedi 2|
Fﬁﬁﬁiﬁ‘l

(1) A3 B3} 7eiq

(2) AR, v B Mo 2

(3) ATET R, 9 B WET R

(4) A 3R B Mt oE 2
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83.

87.

{25 |

ama plavs ericke ' 1 ;
Rama plays ericket with his friends every

evening. Which energy does he use to play
cricket ? ‘
(1) Muscular energy
(2}
(3)

(4)

Sound energy
Light energy

Chemical energy

Which one of the following is ‘sticky rice’ and
i1s a common variety of rice in Assam ?

(1) Bomba rice
(2)
(3)

(4)

Ponni rice
Bora rice

Arborio rice

With respect to Gujarat, the locations of
Uttar Pradesh Andhra Pradesh,

respectively, are :

and

(1) North-East; South-East
(2)
(3)

(4)

North-West; South-East
North-West; South-West

North-East; South-West

When we burn fuels we get :

(1) Mechanical and light energy
(2)

(3)

Light and sound energy
Only light energy

(4) Heat and light energy

Select from the following the best period of

the year for the people of Bihar to start a
bee-keeping programime :

(1)
(2)
(3)
(4)

April to June

August to October
October to December
February to April

83.

85.

B6.

87.

P
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g
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k. é
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‘ﬁ* L
(3) &N =Ed b
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TS ¥ Trde, I W I 37Ty waw F FHHT:
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88.

89.

Consider  the  following  statements  about
snakes and identify the incorreet one from
the following .

(11 Poisonous snakes have fangs.
(2) They chew up their prey.
13)  They swallow their food whole.

(4)  Snakes have sharp teeth.

Bronze is an alloy made by melting the
following :

(1) Aluminium and zinc
Zinc and tin

Tin and copper

Copper and zinc

Select the correct statements about elephants

from the following :

A. A three-month-old baby elephant

generally weighs about 100 kg. :i
|
B. An adult elephant can eat more than !

200 kg of leaves and twigs in one day.

C. Elephants do not rest very much; they

sleep for only two to four hours in a day.

D. Elephants like to play with mud and

water.
(1) Aand C
(2) CandD
(3) BandD
(4) AandB

{ 26 )

88,

89.

5
gl & A o fafafeag saa g S gy
qur fraferfaa o o meEa a4 1 fafga £ 00

(1) STefie gil & =64 71t 2fq 714 3 |
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o2 e s s e 2

(1 tfafEm i e

(2) T s fes

(3) oA I Hiaw

(4) iR 3 F
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P-1/C (28 ) 1};;
PART IV
LANGUAGE I
ENGLISH

Directions : Read the passage given below and
answer the questions that follow (Q. Nos. 91 to 99) by
selecting the correct/most appropriate option.

In the middle of her solo trip to Mizoram last
month, Geeta Garud, 69, was walking on a narrow
ledge, “making my way behind a waterfall, trying
out something I wouldn’t have in my younger
years. And I realised how travelling solo was such
a liberating experience.”

Before going on her week-long holiday, she
was hesitant about travelling by herself. Garud
had asked friends and family but found no takers.
Yet there she was, alone, relishing a challenging
trek. “Why was I being dependent on others?
Being alone gives you a sense of freedom.”

She ended up having many firsts. She danced
impromptu at a festival in Reiek, waded into
a river, and went horse-riding. “I had
opportunities to try horse-riding when I was
younger, but could not work up the courage. This
time, I thought, if not now, I may not get another
chance,” says Garud, who was an athlete in her
youth and had played cricket.

She was at her farm in Koregaon during the
lockdown and had felt the lack of social
connections. It motivated her to travel as soon as
things eased.

“Travel is also about meeting people; I felt
that sense of joy and freedom when | finally did
it.” She is planning to travel to Europe next and
has decided not to take a friend or relative along.
She intends to revisit the joy of travelling alone
and relishing a sense of freedom all over again.

Which of the
incorrect ?
Travelling alone in distant Mizoram at the age

91. following

statements is

of 69 :

(1) she was taking a big risk.

(2) she was breathing an air of freedom.
(3) was very enjoyable but very tiring.
(4) was a novel experience for Garud.

92.

93.

1 94,

95.

96.

Garud travelled alone as :
(1) no one agreed to accompany her.

(2) she did not like company.

(3) a companion would have offered her
unasked for advice.

(4) it was less expensive.

Which of the following statements .

true/false ?

A. Initially, she did not like to go alone.

B. She wanted only a friend to go with her.

Choose the correct option :

(1) Bis true and A is false.

(2) Both A and B are true.

(3) Both A and B are false.

(4) A is true and B is false.

Study the following statements :

A. She practised only for a day before
dancing in a festival.

B.  Horse-riding is a courageous skill.

C. Her experience as an athlete helped her
in trying horse-riding.

Choose the correct option :

(1) B and C are true, but A is false.

(2) A and C are true, but B is false.

(3) A and B are false, but C is true.

(4) A and B are true, but C is false.

Which one of the following statements is

not

true ?

(1) A friend might not have let her wade into
ariver.

(2) Walking on a narrow ledge is an easy
task.

(3) Garud’s family owned a farm at
Koregaon.

(4)  During lockdown, Garud felt isolated and
lonely,

“And I realised how travelling solo was

The underlined expression is a/an
clause.

(1)
(2)
(3)
(4)

Noun
Adjective
Adverb
Principal
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‘GH’TUd had Nsked

family but found 4, takers
The underlined word g
(D
2
(3
(4)

friends and

: aan
Pronoun

Conjunction
Interjection

Noun

‘She was hesitant ||

—_—
Choose the word e
underlined one.

(1)
(2)
(3)
(4)

arest in meaning to the

disinclined
harmless
willing
keen

relishing a challenging trek’

Choosg the word opposite in meaning to the
underlined one.

(1)
(2)
(3)
(4)

revealing

denying

realising

disliking

Directions : Read the poem given below and answer

the questions that follow (Q. Nos. 100 to 105) by
selecting the correct / most appropriate option.

Gather ye rosebuds while ye may,
0ld Time is still a-flying;
And this same flower that smiles today

Tomorrow will be dying.

The glorious lamp of heaven, the sun,
The higher he’s a-getting,

The sooner will his race be run,
And nearer he’s to setting.

That age is best which is the first,
When youth and blood are warmer,
But being spent, the worse, and worst
Times still succeed the former.

Then be not coy, but use your time,
And while ye may, go marrys
For having lost but once your prime:

You may forever tarry.

{ 29 )

100,

101.

102.

103.

104.

106.

P10

The poem s addressed to a/an

(1) young woman

2y old friend

(3 old unmarried woman
(4) gardener

The example of the sun is given to

(1) show his warmth.

(2) warn of his setting.

(3) describe the glory of his light.
(4) describe the fast passage of time

What does the poet tell us about young age 7
(1)
(2)
(3)

Time will soon pass.
It 15 a time to find one’s love.
Time will soon pass and it is a time to

find one’s love,

(4) It is a time to work hard.

Which of the following statements is
true/false ?

A. Gathering rosebuds is the same as

enjoying one'’s life.
B. The sun can’t keep on shining forever.
Choose the correct option :
(1)
(2)
(3)
(4)

B is true and A 1s false.
Both A and B are true.
Both A and B are false.

A is true and B is false.

‘And this same flower that smiles today.’
Identify the figure of speech used in this line.
(1) Metaphor

(2)
(3) Hyperbole
(4) Simile

Personification

Identify the figure of speech used in : ‘The

glorious lamp of heaven, the sun’.

(1) Metaphor

(2) Personification
(3) Hyperbole

(4) Simile
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Directions : Answer the following questions by
selecting the correct / most appropriate option.

108. A teacher of Class IIl is presenting new
vocabulary to the learners. Which one of the
following is an effective way to present the
new vocabulary ?

(1) The teacher should give them a concise
definition of words.

(2)  The teacher should try to explain a word’s
meaning in the situation in which it
occurs.

(3) The teacher should write its meaning on
the blackboard and ask learners to learn
it by heart.

(4) The teacher should tell them the

antonyms of words and give the meaning
in their language.

107. Learning a language is a matter of _

(1) process
(2) product
(3) skill

(4) acquisition

108. Choose the strategy that matches the
example.

I focus on the languoge I use to make sure it is
correct.’

(1) Revising

(2)  Self-monitoring

(3) Translanguaging

(4) Memorising

109. Students in Class II sing a song, ‘Head and
shoulders, knees and toes’ They touch the
correct part of their body as they sing the
song. Which method is the teacher using to
teach them ?

(1) Communicative Language Teaching
(2) Total Physical Response
(3) Eclectic

(4)  Audio-lingual

110.

111.

10
2%

Match the ways of reading with what read.
do :
Ways of What readers o
reading
A.  Predicting i. They determine hy
writers feel based
how they write.
B.  Inferring ii. They use parts of th,
attitude text to help them
understand

unfamiliar lexis.

C. Deducing iii. They look at how
meaning the information .
from context structured, by

noticing headings or
introductory phrases.

D.  Intensive iv. They focus on how
reading language is used in a

piece of text.

E.  Identifying v. They use titles and
text pictures to give

organisation themselves 1deas

about what the text
is about.

(1) A, B-iv, C-v, D-ii, E-iii
(2)  A-ii, B-i, C-iii, D-iv, E-v
@) A-iv, B-iii, C-ij, D-i, E-v

4)  A-v, B-i, C-ii, D-iv, E-iii

Students work in groups to answer five

questions about vocabulary from the previous
unit. Then, they exchange questions with
another group ang try to answer the
questions, This is an example of :

(1) Feedback

(2)  Reading assessment
(3)

(4)

Peer assessment

Self-assessment
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113.

114.

118,

(31)

[ like it when the teacher glves me a card with
a word or phrase on it and I have to act it out
for the rest of the class so th
word.

Find tl:le learners’ comments with
learners’ preferences listed below:

(1) Iremember language well when I hear it.

(2) 1 r‘emgmber language well when I
memorise the phrase from the card.

(3) I.l‘emember language well when 1 am
kinesthetically involved.

(4) Tremember language well when I see it.

at they guess the

the

Read the following statements and choose the
correct option :

Assertion (A) :

All children who enter school are competent
language users according to their age.

Reason (R) :

Due to language and cultural diversity, they
are unable to demonstrate their abilities.

(1) Both (A) and (R) are true, but (R) is
not the correct explanation of (4).

(A) is true, but (R) is false.
(A) is false, but (R) is true.

Both (A) and (R) are true and (R) is the
correct explanation of (A).

(2)
(3)
(4)

Manjeet of Class V speaks in different ways
to his teacher, to his friends and also to a
two-year-old child. It means Manjeet knows
how to use language in social situations. What
is this attribute of a language known as ?

(1) Semantics

(2) Pragmatics

(3) Act of speech

(4) Naturalist

A mother notices that her child sometimes
says things that she has never heard adults or
her siblings say. She is confused, as she
believes that the child learns language by
imitating people in her family and immediate
surroundings. Her belief resonates with :

(1) Behaviourism

(2) Constructivism

(3) Multilingualism

(4) Nativism

116.

117.

118.

119.

120.

P-I/C

The set of skills that develop before children
begin formal reading instruction and which
provide the foundation for later academic
skills is :

(1) Emergent curriculum

(2) Emergent properties

(3) Emergent literacy

(4) Emergent solution

A grandmother loves to read out stories from
books to young children at home and, in this
way, exposes them to books and new ideas,
and the children are actively engaged in this
process. This technique is known as :

(1) Shared reading

(2) Dialogic reading

(3) Aloud reading

(4) Model reading

An approach to teaching reading that starts
with basic elements like letters and phonemes
and teaches children that phonemes can be
combined into words before moving on to
reading as a whole is :

(1) Bottom-up approach
(2) Whole language approach
(3) Structural approach

(4) Top-down approach

Read the following statements and choose the
correct option :

Assertion (A) :

Use of phonetic spelling slows down the ability
to learn to spell correctly.

Reason (R) :

When young children use spellings that they
‘invented’ rather than conventional spellings,
it does not slow down their ability to learn to
spell correctly.

(I) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

Both (A) and (R) are true and (R) is the
correct explanation of (A).

(2)
(3)
(4)

In learning a new language, many students
often lack confidence when speaking due to
the language’s unique pronunciation rules.
One way to overcome this problem is by :

(1) using game-like activities that require
verbal interaction in the classroom.

(2) conducting special speech therapy with a
counsellor and practice through drills.

(3) correcting errors whenever they happen.

(4) letting children read aloud in class.
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Candidates should answer questions
from the following Part only if they
have opted for HINDI as

LANGUAGE - L.

el Frefafaa o % g % I
*had adl ¢ Ife I|A WIET — I &
fasrey &t g &t |
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PART YV
LANGUAGE 11
ENGLISH
Directions : Read the passage given below and |122. Which one of the followin: stf*P‘r‘a—lt:!t\:;: L;‘:i’-];
answer the questions that follow (Q. Nos. 121 to 128) (D) g’:’i?:b{:fide of woad, 88w

by selecting the correct/most appropriate option.

121. Which one of the following statements is true ?

Dorothy lived in the midst of the great Kansas
prairies (grasslands) with Uncle Henry, who was a
farmer, and Aunt Em, who was the farmer’s wife.
Their house was small, for the lumber to build it
had to be carried by wagon from many miles afar.
There were four walls, a floor and a roof, which
made one room; and this room contained a rusty
looking cooking stove, a cupboard for the dishes, a
table, three or four chairs, and the beds.

Uncle Henry and Aunt Em had a big bed in
one corner, and Dorothy a little bed in another
corner. There was no garret at all, and no cellar —

except a small hole dug in the ground, called al
cyclone cellar, where the family could go in casc

one of those great whirlwinds arose, mighty
enough to crush any building in its path. It vas

reached by a trapdoor in the middle of the '?'ioor,i
from which a ladder led down into the small, dark i
hole.

When Dorothy stood in the doorway and
looked around, she could see nothing Lt thi~ great
gray prairie on every side. Not a trce nor a house
broke the broad sweep of flat country ihat reached
to the edge of the sky in all directions. The sun
had baked the ploughed lard inin a gray mass,
with little cracks running through it. Even the
grass was not green, for the sun had burned the
tops of long blades until ti.ov were the same gray
colour to be seen everywhere. Once the house had
been painted, but the sun blistered the paint and
the rains washed it away, and now the house was
as dull and gray as everything else.

(1) Uncle Henry had a big farm.
(2) She lived in a small and shabby house.

(3) Uncle Henry’s house was freshly painted.
(4) Dorothy’s parents were rich farmers.

123.

124,

125,

(2) Dorothy slept in a big wooden bed.
(3) There was no tall tree near the %muse.
(4) The house was a comfurtable brick house.

Study the following statements :

A. In the vast grassland, Uncle Henry’s was
the only house

B. There was sun-baked gray grass all
around.

C. In the middle of the prairies was a green
1eld ploughed by Uncle Henry.

Choosc¢ the correct option :

(1) B and C are right, but A is wrong.

(2) A and C are right, but B is wrong.

(3) A and B are wrong, but C is right.

(4) A and B are right, but C is wrong.

Study the following statements :

A. Uncle Henry had a tractor trolley in
which wood was carried.

B. The wood for the house was carried from
far away.

Choose the correct option :

(1) Bisright and A is wrong.

(2) Both A and B are right.

(3) Both A and B are wrong.

(4) Aisright and B is wrong.

Which of the following statements are true (T)
and which ones are false (F) ?

A. The fear of a cyclone loomed large on the
family,

B. They had built a shelter for protection
against wind and rain.

C. Around the house there was nothing to
reduce the impact of a storm.

D. Their drawing room had only three or
four chairs.

Choose the correct option :

(1) TTTF

(2) FFTT

3 TFTF

(4) FTFT
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128 “ivn. with Uncle Henry, who was a farmer'
The underlined word is a/an clause.
(1) Noun
(2)  Adjective
(3) Adverb
(4)  Principal

127. ‘a cupboard for the dishes.’
The underlined word is a/an
(1) Preposition
(2) Adverb
(3) Article
(4) Conjunction

128. There was no garret at all.
The underlined word nearly means the same
as a
(1) study
(2) toilet
(3) pantry
(4) loft

Directions : Read the passage given below and
answer the questions that follow (Q. Nos. 129 to 135)
by selecting the correct/most appropriate option.

Father would dress himself for court in a
brightly coloured dhoti, a matching white shirt
with an equally bright white turban and a neat
black coat. The paraphernalia to court would
include a cloth bundle containing court papers and
a basket containing hot coffee with tumblers
and plates for tiffin given by my mother or
sisters-in-law.

The younger advocates of his time were great
admirers of my father and used to listen to him
with rapt attention whenever he rose to address
the court. His arguments were forceful, coherent,
cogent, compulsive and conclusive. The arguments
would go on till about lunchtime and even the
English judge used to take down notes of his
points.

One client was particular that my father alone
should argue his case. On the day my mother died,
this case happened to be on the cause list. My
mother was alive when my father left for court at
10 a.m. that morning and he had told my brother
that he would return as soon as the case was over.
Unfortunately, she died within an hour of his
departure.

With some difficulty, the news was conveyed
through an advocate in court. My father, however,
continued his arguments without showing any
emotions. Only after concluding the case did he
get back home to the room where my mother’s
body lay and stood in stoic silence.

129. Father was very particular about dressing :
(1) to impress his family.
(2) as he was rich enough to buy good
clothes.

(3) as he wanted to follow the proper dress
code.

(4) to impress the judges.

130. Which of the following statements are

true/false 7
A. Father avoided eating in the court
canteen.

B. He liked to drink hot tea during the day.

C. He carried case files wrapped in a cloth.
Choose the correct option :

(1) B and C are true, but A is false.
(2) C and A are true, but B is false.
(3) A and B are false, but C is true.
(4) A and B are true, but C is false.

131. Which of the following statements is wrong ?
(1) Only a few were jealous of his popularity.
(2) He argued his cases logically and

persuasively.

(3) He was the preferred lawyer of some
clients.

(4) Young advocates wanted to learn from
him.

132. Which of the following statements are

true/false ?

A. Even the judges recognised his legal
acumen.

B. He preferred his legal obligations to
family obligations.

Choose the correct option :

(1) B is true and A is false.
(2) Both A and B are true.
(3) Both A and B are false.
(4) Aistrue and B is false.
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138.

134.

135.

‘His arguments were forceful, coherent,

Choose the word similar in meaning to the
underlined one.

(1
(2)
3)
(4)

crazy
witless

calculating

reasonable

............. a bundle containing court papers.’
The underlined word is a/an :

(1) Verb

(2) Adjective

(3) Adverb

(4) Noun

‘One client was particular that my father .......

The underlined expression is a/an
clause.

(1) Noun

(2) Adjective
(3) Adverb
(4) Principal

Directions : Answer the following questions by
selecting the correct/most appropriate option.

lm.

137.

A way to teach reading that emphasises
understanding the meaning of words from the
context in which they appear is :

(1) Bottom-up approach
(2) Whole language approach
(3) Structural approach

(4) Communicative approach

The ability to think and talk about language
is :
(1)
(2)
(3)
(4)

Proficiency

Emergent literacy
Metalinguistic ability
Phonological awareness

(40)

138,

189,

140.

=

A mother asked the teacher of Class I1 how it
was possible for her child to sometimes say
things that she had never heard any adults or
siblings say. How is it possible ?

Which one of the following is the apt answer to
this question ?

(1) The human brain is innately

learn language.

(2) A child learms
reinforce the deve
language.

(3) As per the constructivist approach,
children can invent new languages.

Children learn language only by
imitating adults.

wired to

language when we
lopment of the child’s

(4)

A technique used to facilitate early literacy,
which involves an adult and a child looking at
a book together while the adult asks questions
and encourages a dialogue, followed by
switching roles so that the child asks
questions to the adult, is called :

(1) Shared reading
(2) Dialogic reading

(3) Storytelling
(4) Model reading

A teacher can develop the listening skills of
language learners by :

(1) focusing only on listening skills without
associating them with other 1
e anguage

(2) creating opportunities for learners to

listen to a variety of language sources
and people and engaging in other
listening activities,

(3) making the learners listen

to everythi
they hear passively, e

(4) speaking continuously to learners both

within the classroom anqd outside
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142.

143.

1“.

145.

(41)

Read the f(\"l‘l\l.'ing
correct option ;
Assertion (A) :

statements and choose the

Accuracy in lan - .
: - Ruage is most import \
primary leve]. portant at the

Reason (R) :

Gral_nmar 1S an integral part of the primary
curriculum.

(I) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(2) (A)is true, but (R) is false.
(3) (A)is false, but (R) is true.
(4)

Both (A) and (R) are true and (R) is the
correct explanation of (A).

Theoretical positions and beliefs about the
nature of language, the nature of language
learning, and the applicability of both to
pedagogical settings is :

(1) Content

(2) Approach

(3) Technique

(4) Syllabus

Formative evaluation is :
(1) related to ongoing development and
improvement.

(2) carried out at a pre-specified or particular
stage in the course.

(3) not subjected to change.

(4) what is happening in the

teaching-learning process.

While planning lessons for young lesrners, the
teacher decided to focus on the Total Physical
Response (TPR) method. Whici: one of the
following should be used to inciude TPR in the

lesson ?

(1) Choose activities thet Lelp inem stay in
their seats and work in pairs or groups.

(2) Must add some listening activity in class.

(3) Must keep activities aside and instead
ask quesfions ana motivate them to
respond . o

(4) Must ensurc to © dd some bodily activities
in class.

Which approach to grammar encourages the

belief that learning a language is a matter of
learning rules ?

(1) Inductive

(2) Communicative

(3) Grammar Translation

(4) Deductive

146.

147.

148.

| 14¢.,

150.

P-1/C
A teacher is planning to give a free writing
task to learners in Class V. Which one of the
following should be focused on most Ly the
teacher ?
(1) Fluency of the content
(2) Both fluency and accuracy of tiie content
(3) The handwriting of the learner
(4) Accuracy of the conten!

Top-down means ‘attend to the overall

meaning’. What does ‘bottom-up’ mean ?

(1) Focus on pre-reading

(2) Focus on the words and phrases of the
text

(3) Focus on asking short answer type
questions

(4) Focus on the gist of the text and abstract
ideas

Whnich among these is the primary

responcibility of the language teacher ?

(1) Selecting suitable content for teaching
(2)
3)
(4)

Grouping learners into different classes
Instructing the learners

Identifying the learner’s communicative
needs

A young child picks up a book, holds it right
side up, and turns the pages. These activities
demonstrate :

(1) emergent curriculum

(2) emergent properties

(3) emergent solution skills

(4) emergent literacy skills

Read the following statements and choose the

correct option :

Assertion (A) :

Learners acquire languages since they are

genetically predisposed to do so and the

environment does not play any role in it.

Reason (R) :

The learner-centered classroom environment

has a great impact on language acquisition.

(1) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(2) (A)is true, but (R) is false.
(3) (A)is false, but (R) is true.
(4) Both (A) and (R) are true and (R) is the

correct explanation of (A).
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LANGUAGE - II.
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Do not open this Test Booklet until you are asked to do so.
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Read carefully the Instructions on the Back Caver (Page 15 & 18) of this Test Booklet.

¥ witan IfereT & fiom s (9% 15 7 16) 97 2o o frdvi @ e A o |

ﬁ‘or instructions in Sanskrit see Page 2 of this booklet. / Fxga & friwi % fom 30 gfera w1 gz 2 29 | l

INSTRUCTIONS FOR CANDIDATES

wttenfefa & fam fAder

10

This booklet is a supplement to the Main Test Booklet for
those candidates who wish to answer EITHER Part IV
(Language I} OR Patt V (Language II}) in SANSKRIT
language, but NOT BOTH.

Candidates are required to answer Parts I, II, III from the
Main Test Booklet and Parts IV and V from the languages
chosen by them.

Questions on English and Hindi languages for Part IV and
Part V have been given in the Main Test Booklet. Language
Supplements can be asked for separately.

. Use Blue/Black Ball Point Pen only for writing |

particulars on this page/marking responses in the Answer
Sheet.

. The CODE for this Language Booklet is C. Make sure that

the CODE printed on Side-2 of the Answer Sheet and on
your Main Test Booklet is the same as that on this Language
Supplement Booklet. In case of discrepancy, the candidate
should immediately report the matter to the Invigilator for
replacement of the Language Supplement Test Booklet.

This Test Booklet has two Parts, IV and V consisting of
680 Objective Type Questions, and each carries 1 mark :

Part IV : Language I — (SANSKRIT) (. Nos. 91 - 120}
Part V : Language IT - (SANSKRIT) (Q. Nos. 121 - 150)
Part IV contains 30 questions for Language I and Part V
contains 30 questions for Language II. In tﬁis Test Booklet,

only questions pertaining to SANSKRIT language have been
ou have opted for as

iven. In case the language(s)

En%l and/or Language II is a language other
than SKRIT, please ask for a Supplement
(Language) Test Booklet of C Code that contains
questions on that language. The languages being
answered must tally with the languages opted for in
your Q-pplication orm. No change in languages is
allow .

Candidates are required to attemﬂt questions in
Language I1 (Part V) in a lan e other than the one

chosen as Language [ (Part from the list of
languages.

Rough work should be done only in the space provided in the
Test Booklet for the same,

The answers are to be recorded on the OMR Answer Sheet
only. Mark your responses carefully. No whitener is allowed
for changing answers,
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